1u=1+0| OOOOCOCOOO00
1=10+1 QOOCOO0O0CO®
11=9+2 | QOOCCOOCOO0®
11=c+3 | OOOCOOCO000
1n=7+4| QOCOOCCOO000
11=6+5 | OO0COC0000e®
11=5+6 | OOOCOOC0000
=447 COOCOO000000
11=2+2 | OOCO0000000
11=2+9 | OO000000000
1u=1+10| OO00C000C0000
1=0+11| 9OO0000C000O®
16=16+0
16=15+1
16=14 +2
16=13+3
16=12 44
16=11+5
16=9+7
16=8+8 10 is one part
16=7+19 .
16=6 + 10 6 is one part
16=6+11 16 is the whole
16=4 +12
16=3+13 3
16=2+14
16=1416
16 =0 416

Tree A is taller than tree B

so tree B is shorter than tree A.

11-0=
1-1=
11-2=
11-3=
11-4=
11-6=
11-6=
11-7=
11-8=
11-9=
11-10=
1-11=

16-0=
16-1=
16-2=
16-3=
16-4 =
16-6=
16-6=
16-7=
16-8=
16-9=
16-10=
16-11=
16-12=
16-13=
16-14 =
16-16=
16-16=

12=124+0
12=11 +1
12=10+2
12=9+3
12=044
12=7+56
12=6+6
12=64+7
12=4 8
12=3+9
12=2+10
12=1+4+11
12=04+12
16=15+0
16 = +1
16=134+2
16 = +3
16=11+4
16=10+456
15=9+6
16=84+7
16=7+8
16=6+19
15 =5+10
i5=4+11
16=3+12
16=2+13
i5=1+14
i5=0+15

5 is one part
7 is one part
12 is the whole

7 is one part
8is one part
15 is the whole

12-0=
12-1=
12-2=
12-3=
12-4 =
12-56=
12-6=
12-7=
12-8=
12-9=
12-10=
12-11=
12-12=

15-0=
i5-1=
15-2=
156-3=
16-4 =
15-6=
16-6=
15-7=
i5-8=
156-4=
16-10=
15-11=
15-12=
15§-13=
15-14 =
16-15=

Year 1 Term 3 %

The yellow line is longer than the green line
so the green line is shorter than the yellow line.
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The biue line is longest.

13=1340 13-0=
13=12 41 13-1=
19= 1142 13-2=
13=9+4 13-4=
7
13=E8+65 _ 13-6=
13=7+6 ‘ 13-6=
13=6+7 7isonepart |5 ;-
13=5+8 6isonepart |ii-c=
13=4+9 13isthewhole |13-9=
13=3+10 13-10=
13=24+11 13-11=
13=1 412 13-12=
13=0 +13 13-13=
14 =14 40 ooooooooogoooo 14-0=
000000000
14=19+1 50000000000000 |14~ 1=
14=12 42 ooooooooogo-oo 14-2=
_ 0000000000000 | . _ - _
14=11+3 BO000000000000 14-3=
14 =10 + 4| QOCO0CCOVSVE® |14 - 4 =
- 0000000000000 |/ _ - -
14=9+56 000000000000 14 -6=
4 =546 | cOOOCOOO00000® |14-6=
14=7+7 | COCCOOOO0ODOV0 (14 -7 =
- T 60000000000000 w-r
=142 1 0000000000000 |4 - 5=
14=5+9 | 0000000000000 (14 - =
14 = 4 4 10| 0000000000000 (., _ ., _
14=3+11 14-11=
14=2+12 14 -12 =
14 =1 413 14 -13=
14=04+14 14-14=
The blue line is § blocks long.
‘o‘ 1 2 8 4 5§ 6 7 & 19 1b‘
cm

The biue line i q centimetres long.
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